NAME: OLUKOYI GRACE T
DEPARTMENT: COMPUTER ENGINEEIRNG
MATRIC NUMBER: 16/ENG02/045
ASSIGNMENT 2
commandwindow
clear
clc
format short g
syms x
grace=(exp(-0.5*x)*((4-x)))-2
olukoyi=diff(favour)
x=0.5;
xgrace=x
fori=1:5
iter(i+1)=i
x= double(subs(x-(grace/favour)))
xfavour(i+1)=x
ea(i+1)=abs(( xgrace(i+1)-xgrace(i))/xgrace(i+1))*100
if ea(i+1)<=1E-9
break
end
end

tab=[iter' ea' xgrace']



grace=

-exp(-x/2)*(x-4) -2

olukoyi=

(exp(-x/2)*(x - 4))/2 - exp(-x/2)

xgrace =

0.5

iter =

0.83889



xgrace =

0.5 0.83889

ea =

0 40.397

iter =

0.88496

xgrace =

0.5 0.83889

0.88496



ea =

0 40.397 5.2054
iter =
0O 1 2 3
X =
0.88571
Xgrace =
0.5 0.83889 0.88496

€a =

0 40.397

0.88571

5.2054 0.084972



iter =

0 1 2 3 4

0.88571

xgrace =

0.5 0.83889 0.88496 0.88571 0.88571

€a =

0 40.397 5.2054 0.084972 2.2247e-05

iter =

0 1 2 3 4 5



0.88571

xgrace =

0.5 0.83889 0.88496 0.88571 0.88571 0.88571

ea =

0 40.397 5.2054 0.084972 2.2247e-05 1.5293e-12

tab =

0 0 0.5

1 40.397 0.83889

2 52054 0.88496

3 0.084972 0.88571

4 2.2247e-05 0.88571

5 1.5293e-12 0.88571

>>






